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I, Which of the following is absent in ~ d)
an animal cell?-

' | UNIT 1
CIRCULAR ORGANIZATION
WORDS - SO oLl
Words [ Meanings 1_ Words " MW
Excrete ) " Neerz m
v | v;f/u" T Secretion ?
. . [ — _— s - | _ » S | .le
| Slice f | Organ | \;‘
- | _ — —4 — .
Stain - Sl U Bladder \;
et . = - R \ :
Swab ] | N RESE Ofld L ;
1 Pig_men_t cf’:s JJT Apparen_t__ d P CWJ
Scrgpts; | ., 4 | Granules . _ ?
LEpithEEal 4 __g‘b/ r$k816t31 | _ ‘V'-fbr
Broom iz |-Nutrients j _ a2
Abundance Ouslep pGel *:d-;h
—_— — et B - | S e ——
| Muscles ] P Cartilage G
Exercise b) Leaf cell |
A. choose the correct options. ¢) root hair cell i, g

bud cell

!

4. Which of the following organelle is

a) Protein
b) Water responsible for carrying the genetic
c) Salt : Information inside the nucleus?
d) Cellulose a) Chromosome
| b) Cell membrane
2. What is the main difference between ¢) Ribosome
Plant and Animal cell? ' d) Vacuole
a) Plant cell has the nucleus, it is absent |
~inanimal cell. 5. Which of the following traps ~
b) Plant cell has a cell wall which is . sunlight energy for the process of
absent in the animal cell. photosynthesis? |
c) Animalcell is larger than the plant cel] -a) Cytoplasm
d) Plant cell has no chlorophyll. b) Vacuole
i, Airkant gl i | ¢): Cellulose
. All piant cell do not contain |
chloroplast, plant cell | Y Chlorophyll. .
without chloroplast is: 6. Imagine if you had no bones, what
Green stem cell |

would happen:-to you?

/
et
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M _ " Science Class 6th

a)
b)

¢)
d)

Waste would increase in your blood
your food would not digest.

your blood would have more capypy
dioxide

You would be floppy.

7. Which of the following is the
correct pathway of organization
Cell — Organ system — orpan ___
tissue. |

Tissue— organ —- cell — orpap
system. .

Organ system —- cell — organ ___
tissue.

Cell — tissue — organ —. orga

system. E _ '

8. Liver 1s a part of: Xy
Digestive system. - =~ = -
Circulatory system. |
Respiratory system.

~ Nervous system.

9. Which structure controls the

“functioning of a cell?

Cytoplasm. -
Cell membrane.
Nucleus. :
Vacuole.

10. Layers of plant cells that cover and
protect plant parts are grouped to form:

‘Epidermal tissue

Photosynthesis tissue
Supporting tissue
Vascular tissue. .

B. True and false (correct the

statement if it.i_s false)

| ]'. Muscles cover the body and ihey

are example of animal tissues. False.
Ans:

Epithelial tissue covér the body and -

- they are example of animal tissues.

2. Mitochondri

cell and provid
True

a1s the powerhouse of
€5 energy to all the cell,

3. Tissue are group of organisms with
shared Structure and function. False -

Ans: Tissues are group of similar cells

'with shared structure and function.

4. The control unit of the ¢el] 1S
cytoplasm. False |

Ans: The control unit of the cell is-
nucleus.-

- 3. Nervous system 'p'rovides support

and protection to the organism. False.

- Ans: Skeletal system provides support |

and protection to the organism.

C SHORT QUESTIONS,

What wonld happen to the plant
cellif it had no cel] wal]?

. “Answer:

Cell wall gives the plant celi a fixed
shape. The cell wall allows {ree
passage of water and dissolved

substances. Without cell wail the plant

will collapse under its own weight.

2. How does a cell get water
and nutrients?

- Answer:

Water moves across cell membranes
by diffusion, in a process known as
osmosis. Cell get nutrients from the

blood trough a process known as
0SMOSIS,

3. Do unicellular organisms

have tissues shoes?

Answer:

By definition, unicellular organisms do
not have any tissues. S

4. What does specialization of cell
means? | |
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1fic CCIIS
tslfeecbfdv. 1t is also called cell
differentiation. Animal cell consists of the following
h parts: | *
g Whydo plant cells necc! I;o Cell m embranef .
;hlgmplast and mitochondria: [t is outer COVering of animal ce]|, |4
Answer: loroplast and control th*élt1 Passl.lage of materials in apq
t cell need both chlorop out from the cell. |
r:ilta:chondria because they perform | R
both photosynthesif_ and cellulaf‘ F 4t Cytoplﬂsm:ﬁ | N P4 |
respiration. N - Itis-viscous il etween nucleus ang
C.LONG QUESTIO. : cell membrane.

1. Describe the proper"es of living ~ Nucleus: - - gy
things. ' ~ It is the most important part of cell, |t
Answer: | _ R controls-all the activities of the cell,

| Some propeﬂle§ ot_' living | Betiater - ! ¥ -
things 3";‘; ; | " ItStore waste material for some time
They need 1004 Lot : b fore its removal. = S
They grow with t?:sp_assagg 0 c. § Mitochondria: a
A P e &7 . It is powerhouse of the ceil.

They can move.

They are made up of cells.

They reproduce for continuity of life.
2. Draw and describe animal cell.

Q2. Name seven human organ system en

functions.
Answer:

Organ system components

Heart, Artery, veins

list their compenents and describe their -

e A o

functions

it circulate the blood -
throughout the body

circulatory
system

Muscular
System

It works with bones to
help in moving.

Bicep, tricep.

| digestivc system  Mouth liver stomach
small and large

intestine

- It digest the food in the
body

Brain, nerve and
spinal cord.

nervous system

it controls all the body
activities |
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E STRUCTURED QUESTIONS:

{. Inthevenn diagram below, compare
plant and animal cells.

ANSwer:

Plant cell
Animal cell

No cal! wal

Sl or g foad r‘r

%
\ N vaC O
g ) :.Lr:‘f

T

e

2. - Different parts of your arms are
- shown in the diagram. Write

function of each.

Answer:

See Diagram on book page number
16. :

Four types of tissue
3’7' 2
,
F/g; g [71
W 2 e i

* Connective tls_*sue

. = o =
pisT o ISd Yy

r'l-il||-"-"4.-"'>'I ""*al

,' 'H_,. ;
:i:?.;i_-—d ""Ii 'T;‘

Nervous tissue

Muscle tissue

remove carbon dioxide
from the blood

lt r€moves waste materials
from the body.

Support and protect the
body.

Eplthehal tissue = ‘
covers, prote
Secrets. B Vi

Muscular tissue = mw

Nervous tissue = ca
the body

Connective tissue
- connegts, transport and supports.

es-body parts.
ITY messages to

- F. project work.
- Make a model of human organ
system of your choice by using

reecveled mnfnrmlq Label it parts
(Group WOrK) -
Answer;

" Digestive system:
I. Esophagus

2. Liver
3.Stomach
4.small intestine

5.large intestine
6. Rectum

. -
B

. -""'I";.“_E“ ;‘ —= Mouth . Chevaland

; Crmnig

= \‘—"" A e sl |

_——— . :
: .
_ —_ - Esophoagus
. '
: ; = 1.'"".'

Stomach

~«-== Large Intestine

Small intestina

s e ee—= ROCLUM
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e Words [ ¢ m

Propagation catiled |- b N _;x;gw
SR RN -~ , . | Seedling * >4
| Gamete | : G2/ L\ ——\W,

EERCISE . -~ o~ \ #) Cutting
L b) Tuber.
A. MCQs choose the correc . ‘ 3 * i
e . . 4 | d) Fertilization."

4. Sexual reproduction is a big

. advantage to a group of organisms
because it provide a lot of;

‘a) Variety in organisms.

1. Potato can be grown from 1ts
seed. but mostly farmers cut pieces

of potato tubers and bury them 1n

soil because: | ; ‘
~ a) It need more water. | b) Identical or gaHISI_TDS |
b) Itis quickweight of ' C) Ener:gy for organisms to
-producing plants. : - | survive. =
¢) Potatopieces are useless. =~ d) Similar copies of parents.

d) Itis the habit of farmers. . _' ; i
- 5. Onion plant produces a new

2. Farmers prefer vegetative ~ plant without the formation of
~ propagation methods because they seeds. This type of reproductmn 1S
¢an: . g [0~ 961 " caHed |
a) Produce new varieties. | a) -Budding.
b) Grow plants/ crops | b) Fragmentation.
- quickly and easily. - ¢) Fission.
¢) Cope with all type of . d) Vegetative propagatiol:
diseases. | | B
d) S’ﬁ:’“’e all type of weather 6. Tulips, lilies and onions can bé
_ nges. -
. 3. Which one of the following is § reprz)duEEdlEy,
- not a process involved in - - b) Tub il
vegetative propagation. RN &) e

Cuttings.
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d) Runners. B, Gt
- Gtem 18 4 }}‘art of a‘slmrt. system tmenﬂrat;t,tng 19 done mostly in fruit
;hich grows in the air. Sometimeg el

e ¢an be underground in plants
hl»f‘-sﬁ ) Rose and Jasmine,

) Mango and orange.

o) Strawberry and mint,

d) Potato and onion.
g, Potato tubers have depressions
-alled Eyes if it is without

a) Have seeds.

b) Havg_buds.

¢) Can grow branches.
d) Can grow roots.

rovide - :
has ay; rootstock which

a) Weak roots.

b) Strong and resistant roots.

¢) Disease roots.

d) Small roots.
10. Any layer;

a) Few branches are

= riancnes are

involved,

b) Some roots are used as
rootstock.

c) Some leaves are removed.

d) - Some buds are added. -

B. Match the columns

[Column A

Column A : | Column B . B K
Bulb Formation of new organisms without
e . _ " |'gametes.7 - a |
Runner Swollen underground stem with

L : buds.3 |

| Tuber | Fertilization of gametes. 4
Sexual reproduction

Underground stem with thick fresh
leaves.1 - |

Cutting ¢ ( | Piece of stem, root and leaf.5 e
 Plantlets Ra | Stem growing along the ground.2
{ Asexual reproduction Buds at margin of leaves.6

SHORT QUESTIONS:

1. Differentiate between sexual and
asexual reproduction.

Answer:

Sexual reproduction involves the fusion of
male and female gametes. While asexual
reproduction involves formation of new

plants from vegetative parts like roots,
stem and leaves.

2. Why do organisms reproduce? What

will happen if a group of organisms is
unable to reproduce?
Answer:

Organisms reproduce to continue the
chain of life. It a group of organism is

unable to reproduce then it will disappear

from earth. '

3. Define Buds? What are the different
structure formed from buds?

Answer:

A Bud is a small swelling that can grow
iInto new branches, leaves or flowers.

Roots, shoots and new plant are formed
from buds. ‘

4. Why do we seldom see potato seed

while we see many potatoes around us?
Answer:
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Artificial and natu

are
5. Comp pagation.

vegetative pro
Answer: _
Natural vegetative

| developme ; Vi
e tion. While artificial

eans of hum ,
i | ONG QUESTION: .

1. Differentiate between sexual and

" asexual reproduction.
Answer: b

Sexual Reproduction: ¥
it involves the fusion of male and female
gametes. The male gametes ar€ inside Ithe
pollen grain and female Gametes are

present in ovule.

~ Asexual reproduction:
It involves formation-of new plants from

" vegetative parts like root, stem and leaves.
- It does not require flower or seed.._

formation.

Q.2 Compare artificial and natural

_vegetative propagation: Vg

~ Answer: ¢

Natural Vegetative propagation:

Many plants reproduce through vegetative

propagation naturally. Methods of natural

~ propagation are budding, bulbs, tuber and
runmers.” . ,

Artificial vegetative Propagation:

It require human action. Common types of

artificial vegetative propagation are

cutting, layering, grafting and tissue

culture. . - | |

~ STRUCTURE QUESTIONS.
| I The tree of 40 fruits is a single tree
* -*th_at grow forty different types of fruits

299

including peaches, plums, Aprico;
nectarines, cherries, and a"mﬂnd:’
It took 10 year for its formation,

See Diagram Book Page# 25

- A.'which technique of vegetatiya

propagation is used in this tree,
Answer:Qraﬁing. -

B. Can you make a tree which cap
more than one type of fruits? Sroy

~ Answer: Yes, We can grow.

r' If SUCIr,frees are grown in Pakistap
- will it be helpful for agriculture?
Answer: Yes, it will be Helpful for

- agriculture in Pakistan.

2. The following figure shows Vegﬂa.tive .

propagation in'geranium plants.

| ‘See Figure Book Page # 26

" A. Which type of vegetative
_ propagation is used in this figure?

_ " Answer: Cutting.

B. Why a piece of stem from pafent |

plant is placed in water for few days? - '
Answer: To get sufficient water for root

formation.

C. Can we gef new varieties of
geranium plant by this methods?

~_Answer: No, we cannot get new varieties
- - of geranium. | ik

D. What are the benefits of prbducing
new plants by this methods? ¥

~ Answer: Its can produce multiple copies

of plants quickly.

 FPROJECT WORK.
Divide the students in your class in’

. seven groups. Each group has to grow
by vegetative propagation method they

learned in'this chapter. Students can

pot.. ‘
Answer: Practical Activity
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UNIT: 3

BALANCED DIET % .
[ Words | Meanings [  Words. |  Meanings |
Tasty M - 3ig# | Carbohydrates - | - TR
e s e _— i | . ISP
Minerals =t | Headache J_J/,
Immumt)_f | . _;_,,3; =g | "Lentils : |
 Starch | Scu ™ |
~ vy - afle;Lf,foJ}r;fo:h
Fatig'ue | . Y73 Heal e - ’d’ ('J.ﬂ
Fats l A Spinach ) Fe _ﬂfr
1 Yolk d;”;, Cereals e Lo |
Cucumber e 1y & Diet B _,_;.
. | Peas [ g V4 Dairy B s .:G/; ...J/;Ju.;:
[ Active Jo | Metabolism | .

dairy products and carrot increase .
‘asthma attacks, so these should not be
included in his diet. After few year he
was unable to see in the dim light and
had repeated fractures. It 1s due to.

W\ - EXERCISE:
MCQS (Choose the correct option).
1. Hamna likes to eat junk food and

refers to eat fruits and vegetables, she
will become.

a) Fitand active. a) Deficiency of fibers.
b) Healthy and smart. b) Deficiency of vitamin A and
¢) Lazy and fat. r:'alcil!m.
d)  Efficient and energetic. ¢) Deficiency of carbohydrates.
2. Nasir developed asthma in childhood. d) Deficiency of proteins. '

Hls mother has a misconception that

-

L] -

i 1 1

'l L]
- .
L \
i ' '
L] . h B
o : ! ' -
- r . L i ; /
[
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3. Which of the nutrient is helpful for
new cells in the body?
a) Protein,
b) Carbohydrates.
¢) Fats.
d) Fibers.
4. Fuel of the body is:
a) Vitamin
b) Carbohvdrates
¢) Fats |
d) Fiber

S. Energy is stored in the food in from

of:
| a) Minerals
b) Calorie
¢) Diet
d) Nutrients
6. Meat and fish are good source of:
a) Proteins
b) Carbohydrates
c) Fats
d) Fiber ‘ |
- 7. Vitamin C deficiency may lead to
. a) Berry bermry. |
b) Scurvy.
c) Night blindness.
d) Aneamia.
8. A balanced diet is a diet:.,

a) With protein carbohydrates

and fats. - ;
b) With all 7 nutrients,
¢) With all 7 nutrients in

appropriate portion.

d) . With equal amount of seven

nutrients.
9. Which.type of food is called body
building food?

a) Carbohydrates

b) Protiens

c) Fats

d) Minerals -
~ 10. Which of the following disease
causes the bleeding of gums?
" a) Anaemia. '
-b) Scurvy.

¢) Rickets.

d) Bruising.

301

Science Clage 6l

SHORT QUESTION
. Differentiate between foq.
nutrient,
Answer:
Food is what we eat and driﬁk for
energy and to stay alive, Ang el
are part of food that are ysed by Duents
body cells. ok
2. In list the food items whicp -
good source of fiber? (Any fﬂm.)

Answer: il
Good Source of Fibers are:

|. Beans . R

2. Berries. . '

3. Apple. -

4. Dried fruits. |

3. Name any two diseases caugeg by
the deficiency of vitamin A ang
calcium.

Answer: .
Two diseases are:

I. Loss of vision.
2. Minimize power of skeletal growth,
4. What type of food we should eat

less.

Answer:
We should eat oil and sweets in small

amount.
5. In an apple a healthy choice for
snack? Justify your answar.

Answer: ,
Yes, an apple is a good choice for

snack, because apple is tasty, high in
fiber and help to lower cholesterol.
6. Why balanced diet is important?

Answer:
Balanced diet is important because it

keep our body healthy and mentally fit.
It also reduce the disease ratio.

7. Why do we need protein our diet?
Answer; |

Proteins provides energy and help in
making of body cells and muscles. It
serves as a fuel source for cells and
tissues. ‘ -

ﬂ'd'and-
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LONG QUESTIONS:
erentiate between micro and
I-Dlra putrients and explain the role

"’r’:‘acm.nutricnts in body.
0 .

Answers
\icronutrients: =
They are those nutrients which body our

spds in small amount. It include zink,
n

Micmnutrients: .
They are nutrients which a body need in

iarge amount. It include fats, Proteins *
ana carbohydrates.

Macronutrients maintain our body

system and struFm{e. It keeps our body

“pealthy. It provide instant energy to our

body- .

» How can we have a balanced diet?

Elaborate your answer?

Answer: ‘

A balanced diet is a diet that consist all

essential nutrients that our body need to

rerform different functions. A balanced

diet should include carbohydrate,

proteins fats and water in appropriate-

portion.

3.1s there any relationship between

diet and fitness? Explain.

Answer:

Yes, there is strong relation between

diet and fitness. Balanced diet Keeps our

body physically and mentally fit.

Balanced diet reduce the chance of

diseases and thus our body remain fit.

4. Why do various nutrients do in our

body?

Answer;

' ?Jutrients performs different functions
In our body. e

- LIt provide energy. |

2. Contribute to body structure.

3.Regulate chemical process.

4. Vitamins keep our skin and eye
healthy,

D STRUCTURED QUESTIONS:

302

| Science Class 6th

Protein content of food. The table below

shows protein content of some food
atoms.

R e

Food Serving Protein (g)
[ ~ size -

Egg™ | | egg 6

Peas ' icup - | 4
Spinach | % cu 3
Walnuts [ 10z 4

Yogurt 1

Pumpkin '1 0z 9
seeds |

a. Which food contain the highest
amount of protein. '

Ans: Egg. .

b. How much protein is present in one
cup-of spinach?

Ans: 6 grams .

¢. How much Protein is present in 5
eggs? -

Ans: 30 grams

d. How much protein is in %2 Oz of
walnuts?

Ans: 2 grams.

2. You are invited in your friend
House, you are provided with

different types of food given below in

the table. You have to choose a
balanced meal and explainthat how it
is a balanced meal.

Healthy items in the above chart are:

Food [ Food

French fries Softdrink

Butter rice | Water

Banana Fried rice- __]

Cottage cheese | Baked chicken |-

[ce cream - Milk shake

Pizza Bread with butter

Meat | Vegetable salad

Jelly Pasta e
| Tea with milk and | Baked vegetables. |

sugar. b ¥ i
| Lemonade | Apples 5

Answer:

,/
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Banana, Cottage checsc.Meat:

I emonade, Baked chicken. Milk shake,
Bread with butter, Vegetable

<alad Pasta.Baked vegetables, Apples.

3. Write the correct nutrients for | .

cach food. | E PROJECT WORk,

SEE Diagram on book page#40 Make healthy and balanced gjes Me

1 Vitamins. for your school lunch. -

2. Proteins. Answer:

3. Carbohydrates. | For Example: 4

4 Vitamins / Minerals. Monday: Fried rice, Boil Eggs. Appl

5 Fats. | | Tuesday: Pasta, Banana, lemonge -

: Wednesday: Egg sandwich; mangdr

4. Match the nutrients to their function. ~ juice. -
[ Nutrients | Functions. - | Thursday: Grill chicken, lemonage

Vitamins Build and repair - Friday: Fish, kiwi, | : °
l | the body.2 Saturday: Fried rice, Fresh fruit juice

Proteins [ Keep body ‘ Sunday: You can have any fast fooq %or |
| healthy and fight taste and fun. | |

| disease. | -~ | Practical work: Make a schedule |jke
| Water Store energy in | the above one of your own chojce.
’ | -the body.4 |
UNIT # 4 1
HUMAN DIGESTIVE SYSTEM.

Words rl\’-[eanings | Worti-sl J : Meanings
Digestion _ . ﬁAssimilatim?' - Meamd: /r-'ﬂ
Chewing i | Vomiting i

[ ST Consigation |
Gla.nd - L}!_”j Enzymes j . b
Ejection | S ¥ Jel 1 | Pancreas i N

: — — —
Diarrhea " ¢fer, | Esophagus | Jedie
Poisoning 'y 3 | Gall bladder | G
| Texture . | Physical N e

MCQs. (choose the correct option).
1. You take a piece of bread and break I
Into smaller pieces. It is an Example of.

I;a- S _ 3 s Sl ]
— S 'Yy Mechanical Jg

. . i | TR .. &
e TLT uy ' EXERCISE:
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2) I:!]]'gifﬂl (“EC§"QI'I,

b) Chemical di‘gcstion.

) L‘-'m:ymc_actmn.

d) Absorption.
» Rile help in fat digestion. It is
:,:.crcled by. |
" a) Stomach

p) Pancreas

¢) Liver

d) Gall bladder
3. Two parts of digestive system are
qvolve in both physical and chemical
digestion. They are:

a) Mouth and oesophagus.

b) Mouth and Stomach.

¢) Stomach and small intestine.

d) Small and large intestine.
4. The food you eat take almost 24 hour
to move from mouth to anus. This =~ -
movement is due to the contraction of,

a) Cardiac muscles :

b) Smooth muscles

~¢) Skeletal muscles
d) Voluntary muscles.

5. Large molecule of food are broken
into small molecule of food with the
help of. i |
a) Teeth

b) Tongue

¢) - Muscles

d) Enzymes.
6. The undigested food is removed from
the body by the process of: |

a) Ingestion

b) Digestion

¢) Absorption.

d) Egestion. - |
7. The small food molecules produced

™

after digestion of food are taken to other

parts of the body by:
a) Muscles.
b) Saliva.

¢) Blood.
d) Intestine.

8. Bile is stored in:
a) Liver

M ' : Science Class 6th

b) Gall bladder

¢) Pancreas

d)  Small intestine.
9‘. T!w food we eat may be solid. or
liquid but stomach converts it to,.

a) Soupy gel

b)  Soupy mixture

¢) Solid balls

d) Watery solution.

10. S'tomach produce enzyme and acid
for digestion of:

a) Carbohydrates

b) Proteins

¢) Fats

d) Oil ™

B SHORT QUESTION.

1. Define Digestion. Why do we need
- to digest food? |

Answer: | _
Digestion is the breakdown of food into
smaller molecules so that is can inter

into cells through cell membrane. We
need digestion for energy, growth and
cell repair. -

2. What role do the muscles play in

digestion?

Answer:

“The muscles of the stomach help in

mechanical digestion by mashing the
food.

3. What is the benefit of breaking up -

food into small piece?

Answer: Benefits of bea_king up- food
are.

1. Better food Absorption.

2. No heaviness.

3. Weight loss.

4. Reduce pressure on digestive

system.

4. Explain digestive enzymes. Give
‘examples.
Answer:

It is a group of enzymes that break
down macromolecules into smaller
molecules to facilitate their absorption.

by the body.
Example:
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a) Amylase.

b) Lipase.

¢) Protease. Etc.
5, How caun villi help in a
food?

Answer: |
Villi help for absorption In the small

intestine. It has a thin wa
which enable a shorter diffusion path. It

also heip in absorption of fatty acid and
glycerol into blood. |

C. LONG QUESTIONS:
1. Explain the different type of
digestion.
Answer: .
There are two types of digestion.
1.Mechanicai digestion: ,
In this type the large pieces of food are
broken into smaller pieces by cutting
and chewing action of your teeth. It

bsorjptivn of

include mouth-oesophagus and stomach.

2. Chemical digestion:

In this type the large piece of food are
further broken into much smaller pieces
by enzymes. The small molecules are -

2bsorbed and used by the cell. Tt
:ncludes stomach, small intestine and

large intestine.
2. Draw and describe human

digestive system.

~ Digestive system consist of the

following parts:
1. Mouth: In mouth the food is teared

“and crushed into small pieces by teeth.
- The enzyme saliva mixed with food.

11, one cell tick,

pipe. It push the swollen foy
stomach. |

3. Stomach: The partly digeste f
inters the stomach. Enzyines ang 00d
mix with food. The muscle pysp t?fld
soupy mixture into small intestjne ¢
4. Small intestine: Enzyme from :
pancreas digest all type of food into
nutrients. These nutrients are absopy,
in'the blocd. | oroed

tOwards

5. Large Intestine: Here.water js

absorbed from undigested materig]

Rectum store the'solid waste before it

excretion. :

D STRUCTURED QUESTION:
1. The Following diagram shows |
change in the starch (a-large
carbohydrate molecules) in humar,

intestine.

See diagram in text book page: 47
a. Name the food molecule and

digestive molecule in the figure,
Answer: Glucose and starch.

b. How starch is converted into

glucose?

. Answer:During digestion starch is

partially transformed into maltose by

the enzymes. Maltase then converts

maltose into glucose.
c. Glucose molecule do not neecd to be

digested but starch molecule do.

- Explain this Difference.

Answer:Our body contain enzymes that

. break starch into glucose. But we don't
* have enzymes to digest glucose.

2. Compare the empty boxes in this
concept map of human digestive
system.Sce table on book page no: 48
or
The table given belew.

~ Human digestive system:

E. PROJECT WORK:
Make a chart of human digesti*®
system. Label all its parts and

mention their functions as well.

. EA ‘
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T
Answer:

This questinn‘s answer is sa

, me as o
. question 2 page: 33 et
Practical work. -
CMNETE R T e
- L)l nte _ MATTER AS PARTICLES,
" Words __Meanings ' Words - L
- < | Squeeze :lmg;)
‘ ' L s e AR Vlotsf
Definite Finl's | Collide ;| w j
lousl | i — 1 f
Obviously ~ wpdte | DiffusiolN XM_
§ | | N ¥ v - 35
WP~ /=3 | Phencmenon 1% I
s i "y E;aporgtion R e *—"—“‘—“—:‘——-
Fades o’ @ . - » AJ
| txyz . | Condensation T
Freezm_g - .z | Reversible . J” i
| Gain " _Pou:t'ed- E - = | 'LE]"’
Phase R, & » | Curious | RGPy
| Fog .4 | Harvest . - P
Saline NN B u_;ﬂ | Marshes ; ' -, ) m
Extraction J¥2 g | Sublimation | 12 £
Ajm L'/J’IIJ:;,L'ZEIJ_{ CGnStant | rju:;t‘-();;“
EXERCISE: | a) Has a definite volume but no
MCQs- (choose the correct option). | definite shape.
- tl“r What happen when ice cream change . b) Has a definite shape but no
om solid to liquid. definite volume.
b | N Freezicrig - ¢) Has Fast moving particles.
b) Melting | . d) Has a definite volume and
'¢) Burning 1y shape.
d) Evaporation.

2. A gas:

£
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Millat Middle ' Conversion of ligyi;
| into solid.

Conversion of sqf; r
into a liquid on
heating.

Conversion of
vapour to liquid.

cannot move because C. put the following materials and
at rest. e rthest object into the column of their
ds are the natural state of matter.

b) Whena$o
Jonger exist.

o) A solid object
its particles arc ¢

d) particles in l1qu!

apart. , . Rock, Pepsi, smell of popeorn, air,
' itrogen, water, rope; tomato, juice,
' ' ‘hen a liquid becomes n y,s -uum cleaner, sand, rain
4. What happen W football, vacuur ; , Tain,
a gas’ ow down -~ spoon, brick, wire, sweal, Oxygen,
N particles slow - _ ]
X cles push away ec] me s Liquids | Gases .
b) Partices B2 Solids _ oases - |
: | me
%tal;ﬁes nove closer together. Rocks; 5?5:;; oped fn, |
) :cles make a pattern. Ropg, . A
) Pamc® ' Football, Tomato Ir,
jui Nitrogen
' ' Vacuum | Juice, | gen,
o Its because It. _
+ Buﬁer;::t and an ice cube melt cleaner, Ml}ka | Is'ltbéﬂgeﬂ,
Y it. i heat. | Chicken, | Rain, - )
beca:;e li’) Absorbs ' Sand, Sweat. S;ﬁiﬂ;
ii) Releases. - SpPon, :
b) i) Releases ' T BI_'lck, |
i1) Absorbs. | wire. | -
¢) i) Absorbsii) Als0 aDSOTZ2. )AbSWbSii Also absorbs. D. Fill in the cross word. .
d) i) Releases ii) Also . Change of water vapour into water.
) ' 2. Change of ice into water on heating.

releases. ‘ |
N 3. Change of water Into gas on heatmg.

4. Change of substance from.

|-

B. Match the column.

Colurin A Column B | " Liquid to solid state.
Melﬁng | Conversion of liquid +
N into vapours or gas.
' E
o E '“ v F |
i E | A R
L p | E | |
T O | E
K[ [ (2] |
'AlT[I[O[N
T | INT |
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E. SHORT QUESTION:
: What is the mechanism through
+hich solids convert into gases -
directly?
AnSwer, _
when a solid absorbs sufficient energy,

attraction between particles is
completely finished, allowing particle to
move further and thus converts into
gases. ,

5) Choose any object of your choice,
mention its state, and describe it in
terms of particle theory of matter.
Answers

Object: Brick.

State: Solid.

Description: Particles in brick are very

much closed to each other. It has a fixed

shape and volume. Force of attraction
between particles is very large.
‘3.Describe the differences between

movement of particles in liquids an 1
gases.

Answer:

Particles in the liquids are in translatory
and random motion while particles is in
the gases are in random motion.

4. Are particles closer together in a
solid liquid or in gas?

Answer:

Particles in a solid are very close

together but in liquid and gas they are
- away from each other.

S. What héppened to atﬂni when heat
is added to them?

- Answer:

When heat is added to a substance then

the atoms faster, and then a change of
state occurs,

LONG QUESTIONS

I. Explain the particles theory of
matter.

Answer:

Matter is made up of small particles.
They are in constant motion. There are
space between particles. Based on the
arrangement of particles, matter can

- exist in three different states i.e solid

liquid and gas.

2. In light of particle model, explain
why does a balloon deflate slowly?
Answer: _ |

As the surface stretches to inflate, the
surface becomes so thin in some places

that tiny, microscopic holes result. Air

molecules are slowly diffuse, so the

Jballoon deflates slowly.

3. Compare the free state of matter
with examp!es. |

Answer: .
Llid: It has fixed shape and volunie.
Particles in solid are closely packed.

Forces of attraction between particles
are very strong.

“Example: wood, iron, ice cube, etc.

Liquids: don't have fixed shape but
take shape of container.

Particles in liquid are not close to each
other as that of solids

Force of attraction between particles is
small. |
Examples: water, milk, honey etc.

Gases: it don't have fixed shape and
volume.

Particles in gas are farther from each
other.

Forces of attraction between particles
1s negligible.

Example: air, oxygen, hydrogen etc.
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G STRUCTURED QUESTIONS.

Use the boxes given on the right Sldt?l :n
draw the particle arrangement lljat \;I

] Arab in a solid is changcd. to hiquid.
Write a name of the respective process

in each armow.,
2 Describe the example of diffusion
fe. Explain

from vour everyday |

what is happening with the help of
illustration in terms of particle
movement.

Answer: |
The smell of the roses flower in the

garden is an example of diffusion.
Particles has the ability to move ﬁ't?m a
denser place to rare place SO diﬂ_’us:on IS
Escape of gas molecules from hlg}1
concentration to lower concentration.

3. Complete the following with |
illustration and writing. First row Is

completed for you.

Answer-:take figure from book page:64 e :
h - F project work.
example Make 2D model on a chart paper
from showino narticles in three Statos of
daily life: ‘matter. Your nroject should include
the fcllowine. |
a. A description of the particle
model.
b. A descrinticn of the particle

behavior in solid, liquids and gasses.
Answer: Project work.

Changing
of water

Phases of Matter Notes

Gases. liqulids, and solids are all made up of
micro c particles, but the behaviors of these

particles differ in the three phases.

[ il gy et

-

i
| e — ey mﬂr!llﬂl_' L i et il
rl.-ur — W e e S P — T r—--n- e el w e ol e W
] "Il [ op—— n';--.w- l-l:l:lllh-- [ l:l:l:- il S il g

W N []
PR S L Te—_ 0y gl el e b e 5

e g L

~ UNIT#6
ELEMENTS AND COMPOUNDS

@JS . | ‘ | L_ | Meanings _ —__::.:I
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I - RS St -s
. ] = — —
__I_ieait,ant .
Latin - J | 2
El_?-alile i e |
Sonorous . =
— . : dl};ljl
__E nttile L 3 i we S Sod 1 5
Abundantly - IN Y — |
r_Dyes“ L - Al
Explosives s L )y . P |
| Products 1 | KPP
: | e ) ST
EXERCISE |

MCOs (chnese the correct nntion)

1. COZ is the chemical foriula of
carbon dioxide. What is the ratio
of carbon and oxygen incarbon
dioxide?

a) 3:1
bl &1 N
c) 122
d) 1:1 -
2.._ The symbol of Sodium is:
a) Ni
b) Ne
c) N
d) Na
3, Which of the following is an element:
a) Carbon dioxide
b) Water

¢) Copper
d) Salt

4. Sugar is a compound of: _
| a) Carbon, hydrogen, oxygen.

b)Y Hvdrogen, oxy oen, sodium.
e} Calcirm, carbon. nxvgen.

d) Mciecule, awm, conooind,

‘5. which cf the follcwing is a compound.

a) ClI
b) C-
¢) NaCl
d) 02
6. Sodium and chlorine combined to form
a) Sand
b) Chalk
¢) Sugar
) Salt ;
y 4 IS the combination of
atoms.
a) Atom
'b) Molecule
¢c) Element
d) Gas
8. What type of matter i1s made up by
combining elements?
a) Solid
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letters used

) Elcmtn! to
¢) W represent
- 0
0 \\?gich of these is the correct symbol of an element,
aluminum?
a) Al | D. Short questiong.
b) aL k 1. Carbon is an element¢ While
¢) AL carbon dioxide is a Compoy
. been | Answer- | ., B
]9. How man}fclgments have . Carbon is an elefhent as i
discovered so far: 2 consists of the same kinds o
a) 100 < atoms. While carbon dioxide
b) 118 e tonl consist of oxygen atom ang
) “i | | | - carbon atom. So it is a
d) 1l compound. .

no . 2.Classify.the following substances iy,

: | . elements and compounds.
— Colthan i) Mercury ii) Sulphur iij)
N A Suga I. iV) water V) gold Vi) salt

vii) oxygen. .
Elements: Mercury, Sulphyr,

substance |-

that cannot Gold, Oxygen.

be broken Compounds: sugar,'waier, salt.
into 3, Write three uses of aluminum,
simpler - Answer: |

Three uses of aluminium are:
a. It is used in motor cars,

" b. Isusedin ships.
c. alumunium wire is used

form.

Metal. 1v

Two or
more

?I?ments ' | -~ as electric wire.
Jomth 4. Give symbols of sodium,
togomer calcium, Cobalt, gold and mercu

chemically. '

- | Element symbol

A
substance

1s made up
of two or

more
atoms.

Element. 1 .
| Sodium Na

Calcium Ca

Cobalt Co

Have a Compound.il Gold Au |
shiny | |
surface. | Mercury .

v | One or two Fg '
__ - D LONG QUESTIONS. -
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pifferentiate hclwce‘n clements 2) Metals conduct electricity while
I and compounds. Elaborate nonmetals do not conduct
your answer with an electricity
example. 3) Metals are Shiny but nonmetals

E structured Questions:

Table given below shows the number of
elements that are present in human’s

body. Most of them are nonmetals (keep
help from the table)

Made up of
two or more
different

elements.

type of atom.

Pure substances Impure

substances.

Example:Hydrogen,
iron, copper, etc.

Example:
water, salt,
carbon

dioxide,etg.

2. Identify S compounds found at ye ur
home and write down their uses. |
Answer:.
Wateér: It 1s used for dnnl\mg, washmg
etc.
Table salt: It is used for taste and food
preservation.
Sugar: It is used in food to'make them
tasty. .
Soap: It is used for washing clothes,
bathing and washing dishes.
Toothpaste: It 1s used for cleaning teeth.
3. Give the similarities and differences
between metals and nonmetals.
Answer: |
Similarities:

1) Both are elements.

2) Both have same atomic structure.

3) Both share electron. a. Which the elements are most
Differences: abundant in our body?
| Answer:
) Met t | . :
) ar: :(l)si,:tare e s Oxygen, Carbon, and hydrogen.

- ~° b. Identify the metals and
| | mention the ones that have the

il
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least and the most percentage . Water H20 “01;

in the human body. Lo 2 Y

Answer: . ‘
1) Leastoneis magnesium.

2) Mostone is calcium.

c. Identify the nonmetals.

Answer: _

Oavgen, carbon, hydrogen, nitro
gen, phosphorus, Sulphur, .
chlorine. ~

d. From the table can you identify
the clements that exist in a
gaseous state?

Answer: ‘ ' |
.Oxvgen, hydrogen, | - B W .
eenaan shiltvs wibt in ™ - rbo
nitrogen, chlorine exist in - . - Carbon dioxide
gaseous state in human body. ‘Methane CH4:
E project work. PR

Atoms are represented In
colorful spheres, which makes it easy to
study with (size will vary according to
the size of atom) -
1. MNf{ake a model of water
(112C), carbon dioxide (CO2);
nacthdise (Cf:«l). ,
2. Use dificreni materials 1ike

colored plus 3 clay or Tennis .l Make such models as Your Practical
balls. work. - |
3. Straw toothpicks to form bonds.
Answer:
UNIT: 7
T ~_ MIXTURE.
Words 18 Sl e Meanings I
Mi_xture , | l/'fT
Lemonade S | l ' ] uﬁ:"f/i’
R £ o -
Sl k)
| , h _ Sndlastie
-t
S —-—__‘-_—_‘-'—‘
- e
e - - | _ SRR
/S
— I | -_-//
el
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EXERCISE
A.  MCQs (choose the correct .
options) | v e gt ™
- 1. When sugar 1s mixed with
water it becomes
q\ Flempnt
b) Compound
c) Alloy
d) Mixture

2. The process used to purify-oil is called:

a) Evaporation
b) Distillation
~ ¢) Filtration
d) Winnowing
3. Which one'is not an example cf alloy?
| a) Brass
- b) "Steel
¢)lron
d) Bronze
4. The percentage of Nitrogen in Alr 1S:
a) 35%
b) - 78%
c) 87%
d) 21%
5. The maximum amount of solute that
~ can be dissolved in a solvent at specific
temperature is called.
~a) Solubility
b) Solution
¢) Concentration

Mill — 314 Science Class 6th
% i _
%’/—_\“‘“‘“‘——————__________ £,
ﬂ/——\ gi};i-;lu’
g ﬁluuon g - | - . - d#
Alloy AL R e 5 w A e 1 X
. —_— w0l

Guensls G TR
L./"_/ | e ——— — v
Besit . - . vE;
.#',--"" . S -—

4 Fﬂu-atmn £ gl | LJ!E’L_[;
W—. - : 5 . r;:L:*
Muddy - " N i A hhill Uf:ﬁf
LL_iT"— T | - 7 |

d) Mixture

~6. Which of the followmg is property of a

mixture:

a) The substance lose then original
properties.

b) The substance are mixed in a
fixed ratio.

¢) ~The substance can be

separated by physical methods.
d) Only one type of substance is
* mixed. B
7. The solid particle which are left on
filter paper while filtration are called.
a) Residue
b) Filtrate
c) = Solvent
d) Salute.
8. Air is a mixture of different gasses.
This combination is an example of:
a) Chemical combination
b) No chemical combination
¢) No physical'combination
d) Both physical and chemlcal
combination
9. A mixture of sugar and grains is an
example of :
a) Homogenous mixture

b) Heterogeneous nuxture '
¢) Colloids

- d) Solutions .
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6. ldentify substances in the follow;

table. hp

ied with water In

3 wder i1s m .
i 9 example of:

this soup powder s an
a) Solute
b) Solvent

¢) Solution

d) Mixture
B SHORT QU ESTIONS.

1. Giveone example of: |
mixture with the following

combination one s done for
you.
Liquid - liquid (vinegar In water)
Solid - solid (iron In carbon)
Liquid - liquid (Milk in water).
Solid - liquid (sugar In wa.tfer)
- Gas - liquid (co2 In soft drink)
Solid - gas( dust in air)

flour and water

milk and water

honey and water

Orange juicé.

"

e
#
1
é
=
'
n
cE -

2. Which process would yousee fo ) LONG QUESTIONS

ing? | '
Sepamt“hzfﬂ'"?“_mg' . 1. Explain the Different separatijgp
a) Sand and water. B techniques to get a pure substapc,

b) Alcohol and water..

¢) Vinegar (a solution of Acetic acid from a mixture.

EPET | Answer: |
glqmrcell'm — | - I\ 1. Hand sorting: it involves
&ns“ .Filtfation | A& - separation of different substances by
b. Distillation. . " bl : i W
o Distillation / evaporation. 2. Sieving: when we.sieve the

- materials with different sizes of
particles, the smaller particle will
fall through the sieve and the largest
particle will stay in the sieve.

3. Filtration: it is method of
separating an insoluble solid from a
liquid.. o |

4. Chromatography: it is used to
separate the mixture into its

3. Why water is considered as 2
universal solvent?

Answer: | A
Water is a good solvent and it can

dissolve a wide range of solutes. Due to
this quality water is considered as a
universal solvent. | |

4. Can we use a poly bag for filtration,

ifnot why?

Answer: . components by using filter paper.
A polythene bag is not used for filtration 2. Why the process of filtration
because it is not porous. Liquid particles cannot be used for separating soluble -
will not pass through polythene bag. - solids. - g

5. Why air is considered a mixture and Answer: Solute is a substance that gets
not a compound? - dissolved in the solvent. Since it is
A_nswgr: _ - dissolved in the solvent, it cannot be
Air can be separated into components - separated by the process of filtration.
such as oxygen, nitrogen etc by fractional D PROJECT WORK.
distillation. That is why air is a mixture Take a mixture of salt and sand.

and not a compound. - Perform an experiment to separate the

Salt from sand.
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dlssol"e the sand and salt mixture tg - -, Firation .
pirs! o 10 make a solution than perform the e e |
wale | i |
helow e).perll‘l'le"t ~ 155 -~ <~  Owtilation
Mm' (277 71 (physica)
Sand-saltwater . e
mixtun: : . T —
Saltwater
solution

l' .Words' :

Energy

Task #

Potentlal -

Nuclear $z2 | Renewable R 7 5

= T ' —— —— — e
L & ] ] -

Therllnf:} _ el 7 | Rep}enlsh_ e o i 1

Turbine | % _iz | Radiation, Sk

E.rmass A ;_f:‘_{d:.:’ Temperatl.xre_ ! A S5 L J’:’;, d

'E-xel"cise: =l ¢) Zero 1.2

a. MCQs'(choose the correct options)
1. Which of the following is a
nonrenewable resource?

d) Twice

4. When ice is melting down what type of
energy is melting it?

a) Wind a) Electrical
b)-. Water b) Thermal
c) wildlife ¢) Chemical
d)" natural gas d) Light

2. Rida let a matchstick, what form of
-energy did she used?
a) Electrical
b) - Chemical
¢) Elastic
d) nght .
3. Kamran is sitting motionless on a
chair: his kinetic energy is.
a) * Minimum _
- b) Maximum

5. Energy used to cook food In

-~ microwave oven is a form of*

a) electrical energy
b) thermal energy
c)  elastic energy
d) light energy

6. Which of the following energy
conservation takes place in battery
operated flashlights?
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a) Electrical — mechamcal —

Light.
by € hemica
light.

¢) C hemical — clectrical —

light. | |
d) Terminal — clectrical—- light.

| e mcchanicalﬂ—-'

7. Fossil fuel 1S regarded as an energy

source which 1s:
a) Renewable
b) non rencwable
¢) Generaling
d) Producing.
8. If youare usin
energy you might
a) Coal .
b) Natural gas
¢) Petroleum

d) Wood o
9. Of the following choices, which is best

described or defines electrical energy-

a) moving charge

b) moving water
c¢) electric meter
d) Light source.

be heating with.

10. Which of the following has nothing to
do with hydro power?

a) Burning

b) Gravity

c). Sun

d) ‘water cycle
" B.True or false (correct the statement

if it is false)

|. Moving car is an example of potential

energy. False. |
Correct: moving car is an example of

kinetic energy.
2. In Thunderbolt the elite energy is
converted into sound in electrical energy.

False,

Correct: In thunder bolt electrical
energy is converted into light and sound
energy.

g Biomass as a source of

317 science (fas, il

3 We get energy from petro) t Moy
2

car. True.
is a renewable e
4, Coal 1 NErEY Source

False
Correct: coal is a non-renew

resource.
5. A loose spring possesses elastic
potential energy. False.
Correct: a compressed spring pos; s
elastic potential energy. seg
. How is potential ener
in an object? Give unegy Soreg
example.
Answer:
Potential energy is stored in an object 4,
to its position. When an object is rajseg tue
a certain heightthcn it stores potentja]

4

“energy and uses kinetic energy.

5 Suppose you drop a ball. it
bounces a few times and then stops,
Does energy disappear? Explain your

- answer.

Answer:

When we drop a ball. Then the
energy does not disappear but
changes from one form to
another i.e; from potential energy

to kinetic energy.

3. How are renewable energy
resources environmental friendly?
Answers: |

Renewable energy sources are
environment friendly because it
does not produce greenhouse
gases and reduce some types of -
air pollution. |

4. Can a body possess energy
even when it is not in motion. Explain

- your answer with an example.

Answer: |
Yes a body possess energy even

when it is not in motion. For
example a book lying on the
table possesses potential eneray:
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: \Vh}’ does most Oftnergy we

s¢ cOme from non-renewable energy

Non-renewable energy is g

primary source of energy. Most
of energy comes from fossil fuel

Fossil fuel are energy rich and

cheap to process.

D LONG QUESTIONS,
1. Whatdo you understang by

the term “energy”, Also Write |

the name of different forms of
energy.

Answer:

The ability to do wb.rk 1S calledl |

energy. Energy is required to do
different types of work. |

Difterent types of energies are: '

1) Kinetic energy.

2) ~ Potential energy.
:3) Chemical energy.
4) Nuclear energy.
J) Lightenergy..
6) Sound energy.

¥ What is potential energy? Give

one example of a body that has

potential energy. in each of the
following: |

1. due to its position.
2. due to its state,
Answer: |
~ The energy of a body due to its
" position is‘called |
Potential energy.
Example:

. due to its position: a brick laying on
the roof of a house has potential energy.
2. Due to its state: a stretched rubber
band has potential energy.

J. A basket full of water is on the first
floor of your house and another |
dentical basket with the same quantity
- Of water is kept on the second floor.
Which of the two has greater potential

“energy? Justify your answer.
Answer:

llat Mt ' 3| N R
M/l,,—————\s\ Science Class 6th
oA i oL

full of water on the second floor

has greater potential energy than

the bucket of water on the first
floor.,

1. S‘tate and discuss the law of
tonservation of energy. Give one
¢xample showing the conversion of

pnte'ntial energy to kinetic energy when
put in use. B

Answer:

‘This law states that one form of

€nergy 1s converted to another
form but the total €nergy remains
constant. The Falling of a stone
-+ from a certain height is an
example of conversion of energy

+ from potential energy to kinetic
- energy.

. E STRUCTURED QUESTIONS:

I. Wind is blowing across a windmill.
The wind mill is converting energy in
wind to electrical energy. After passing
through the windmill, will there be any

reason change in the speed of the wind.
"~ Why? : ‘

Answer: yes, the speed will decrease
because some of its energy is converted
Into rotating wheel of wind mill. |

See diagram on book page number: 110

2. The diagram shows water flowing
from a tank through a faucet and
rotating a wheel.

~ See diagram on textbook pagé: 110

a. What kind of energy does the
water have when it is in the tank?
Answer: -

Potential energy.

b. What kind of energy does the

water have just before it hits
“the wheel?

Answer:

[
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Minimum kinetic energy q¢

'S¢

e

I€nce Clagg b,

Millat Middle Guide
Kinetic energy N

¢. Suggest one change to the
system that will make the

wheel rotates faster.
Answer:

Remove the faucet and allowed

the whole water to fall on the

wheel. |
3. A Biker is going from rest at
position:

1. The diagram shows the bike in four
position as he or she move along a track |

from left to right. N
a. In which position does the

biker have minimum Kinetic energy and

maximum potential Gravitational
energy? Why?
Answer:

ENERGY SOURCES .
| NON-RENEWABLE ENERGY

RENEWABLE ENERGY

maximum potential energy
See Diagram Te

110

b.In which position does the bike
- minimum gravitational pote r

POint 4
at pginl
Xtbook P2

dngd

ge

hay
ntial ene_rg;
?

and maximum Kinetic energy? Why

Answer:

Minimum gravitational pote
3 and maximum Kinetic ener
See diagram in textbook p

110

tia] at p oi |

Int
gy at pgimz
98¢ Numbey. -

F. PROJECT WORK.
Make a poster of comparisop of

renewable and nonrenewable epe,

sources.

-"Answer:

Practi_cal work:

THE Fudl OF L E

oy

P

Ly

gy

UNIT: 9

- ELECTRICITY - _

| Words = 'Meanings Words MEggipgs_

Magic. s | Current A Y
Rub -L-y’: | Blanket | . Jf_
Conductor ~ 4, | Induction ]

Circuit | ] j Insula_tm: - Pt
Clothespi e e ; * =]
othespin | S+ | Buzzer i
—— ey _ ereptti]
1 rap UG..?-C&;J-L' f; o1l d 'JU.:;I/
_ R e T — T— 1 - |

| Parallel | S | Series ﬂ_____-"_{’___
Fairy i - S ¢ Interrupted- - J,
' APPH&PCEB_ J‘f*-Static s Q{iﬁ
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Exercise
MCQ (choose the correct option) 1. Adding more Bulbs to a circuit with

' i one battery wo |
|, Cell is a device which converts: fy would. |

' a) Make th :
a) ical encrgy into electrical b)) Mak: th:ﬂ ;Jll;ightcr

CI'IEI"E!;
b) Electrical energy into light ¢) Make them dimmer

d) Make them colorless.

¢) Deficiency of electrons
d) Deficiency of neutrons

CeTgy. § e 8. Cell is a device th -
) glecmcal CNergy into magnetic a) MM |
energy. *
) : e il energy, |
d) Light energy into electrical b) Electrical energy into light
encrey. . energy. ;
battery is a: , , , _
. {Aa) + single cell | , C) E;Zrc;;:al e€nergy Into magnetic
b) A combir_la_tinn'of cells in which- d) Mechanical energy into light
cells are joined (+) to (-). energy. |
c¢) A combination of cells in which 9. isan electric device which
cells are joined (+) to (+). easily closes or.opens an electric circuit.
d) Unlimited supply of electrical ~a) Filament. |
energy. - - b) Electric bulb.
3. A substance that allows electricity to . ¢) Eleetric switch.
pass through it is called: = - | d)" Electric cell.
a) A conducted. : 10. Bulb glows only in;
b)  Aninsulator., - _ a) Closed circuit:
c) Semiconduct_or. . | b) Open circuit.
d) Superconductor. c) Inboth circuit.
4. All of the following are examples.of d) Open circuit if bulb is not fusecf -
conductors except: B. Match the following items given in
a) Tape water. ' “column A with that in column B.
b) Salt solution. S. | ColumnA | ColumnB
¢c) Metal wire. no
d) Plastic. l Cell Allow electricity to
5. Choose the correct. direction of current: | pass through it.3
C is the correct option. 2 | Battery Eigther breaks or
o) gmB” T, AP o T completes a -
i\ | £ et ' circuit.
@ | /) 9 Conductor Convert electricity
' g e a to light.6 )
4 Insulator A combination of
cells.2 S
5 Switch A device that —I
produce
clectricity.] |
| ¢ | Bub Is a path of -1
- 6. Body is negatively charged then it has: B | electricity. 7 |
a) Excess of electrons 7| Circuit Does not allow =~ |
b) Excess of protons. tlectricity to pass.4

]
-
')
r
L] o
L]
r g
I S A Y -
o I
" F g ."
-
. f
B
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) Batteryor Cel],

C. SHORT QUESTION:
1. What is static electricity?

Answer: . "
Change at rest is called static electricity.

2. What is current electricity?

Answer: -
Change in motion is called current

electricity.

3. How many types of charge are there?
Answer:

There are two types of charges.

Positive charge.

Negative charge.

4. Which electrical appliances we use
daily?

Answer: ‘
‘We use the electric clock, the AC, the

refrigerator, the telephone etc. daily.
5. Why does a cell stop producing
electricity after some time?

Answer:
An electric cell produces electricity from

chemicals stored inside it. When the = |
chemical inside the cells are used up, the
cell stop producing electricity.

6. Explain how bulb glows.in circuit
when it is connected to an electric cell?
Answer: , : y

When the therminal of the bulbs are
connected to electric.cell then the current
flow through the filament of the bulb.

This makes the bulb glow.

7. What is the purpose of using an
electric switch?

Answer:’

Electric switch is used in a circuit to apen
or close the flow of current.

8. What is an electric circuit?
Answer: .

It is a complete path around which electric
current can flow, ' '
9. What electrical device will be used in
electric circuit to glow a bulh?

Answer: -

Electric circuit consists of

2) Wire

3) Bulb

4) Switch
10. What is a cell?

Answer:
Cell is a device which convert

energy to electrical energy,
11. What is an open electric ¢,
Answer: g |
When the switch is open, thep Curren
does not flow is called:an open Ciftuitt
12. What is a CIDSEd electric circllit')'
Answer: | . N
When the switch'is closed, thep the
current flows and is called a clogeg
circuit. ] |
13. Draw cireuit diagram from Series

S chem'i,:a]

Cuit?

- combination of three bulbs,

Answ_er:

14.Draw circuit diagram for paralle] d
combination of three bulbs.

Answer: ;

D LONG QUESTIONS: |
1.  Explain why it is not safe to go
with an umbrella when there is
heavy rain, lightening or
thunder.,

Answer:
Heavy rain and thundering 15

accompanied by lightning.
Lightning is the discharge of @
huge amount of charges. These
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charges may pass the m'etailic
rod of the umbrella,

Hence the person may gey sever
“electric shock and dje. :
How many types of charges gpe
2. re? So discuss the characteristlcs of
:il::e and unlike charges, -
er |
. %‘?:: are two types of charges.
1) positive charge
2) negative charge | T

 Like charges always repel each other.
Unlike charges always attract each other,
3. What is electric circuit? Draw and
discuss series and parallel com
of the electric circuits, |
Answer. | H % <1
Itis a complete path around whicp, - -
electric current can flow, When there is -
one path for flow of current then it i
called series combination. And if there IS
a different path for'the flow of currept
" then it is called a paralle] combination_

4, Draw and discuss the components of

an electric circuit for the flow of
charges. -

Answer: ' o

a) Battery or Cell: it pushes the Charges
‘around this circuit, ' |
'b) Wire: conducting material that allow
charges to flow through the circuit

) Source: device that convert electricity
to other form. |

d) Switch: it is used to connect or
disconnect circuit.

E.STRUCTURED QUESTIONS.
I Two plastics electrically charged
Spherical objects A and B are hung side
by side. The given below table shows
the charges given (0 each wall into

- Separate experiments. What will be the
- tlfect of these objects?

Attract or

repel.

'2. In which of

binatio’n‘r .. Circuit.

| 3.In the followj

- do not conduct electricity,

- circuits, State whether

the following circujts this
P rapidly? Explain,

Will be ugeq u
Answer;
Take

* diagram from book page # 124,

B
&

Answer: [n diagram C, Thg cal] will be
used up rapidly because this IS a series

Ng arrangement, the
bulb Will not glow if A and B are
connected with, * |
Take diagram from book page 125,
a) A Steel spoon -

| b)) “A plastic clip -

€) A copper wire
o d) A silver spoon

4.Explain your answer with reason.
Answer; &l

- Bulb will not gllow If A and B are

connected to a plastic clip because plastic

4. Examine each of the followi'ng given

it is in series or
parallel. Explain,

Take diagram from book page# 125,
Answer: | |

a)Series because there is only one path for
flow of current. :

b) Parallel because there are two pm{s for

flow of current.

c) Parallel because there are two parts for
flow of current.

d) Series because there is only one path
for flow of current. .

S. Think of six activiiiés that use
eiectric current and also name the
device that is used to perform acfivity.
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perform
i

device

323

K. project wory_
Run a competition for saving

electricity in your surroyp

Answer:

. Scienca .
- %C'asslsth |
T

A T

dings,

-

Make groups deliver Speech anq te]]

people how to use natura] resource
avoid use of electricity or yse less

S ang
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UNIT 10 |
MAGNETISM | |
W_"_rd?' | _ﬁeapingé ] L Wi:;[_(_ls. | 1%
Fl_\{agnetlsm =ibzn| Compass - SR 'y
g i i R . — - " B
Sprinkle = - w2-| Loop \\‘4
Giant Y ~, VW T ]
1 LlseAs i 4 | Pole B -
(Float .~ | €N 2 1 —
:a .~ | Retain H"’"T
: A 45 [ | Ji
Behave | P L'T& Vanish ____T
Alternating e ey | Coil ey
il £ N} - h
-—-S—p-ace — i) O s/ "J: ub Hammering L'JI;JJJ /L‘/ M)
North Jé | South i T
MCQs (¢ o a) North Pole
t_Qs)(choose the correct b) South Pole
option). v
. : ' . c) K N
1. Which of the following d)) Wd:stti(;llee
gets attached to a magnet? 3. When a bar magnet is
E) (,’O Py bock brought near iron dust, most of the
)) E(.?‘IIVGI' spoon dust sticks
C ,omb | ' " k | :
- d) Common n; a)' Near the middle
' ‘2'._ ~The pole of a'ma gfiﬁ;at b) Equally everywhere
. Ppmts_words_the geographical Snuth ¢)' Near tw? "_'“‘-15 d
18called: d) At the middle an
| | ‘ends. % . R

i
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4.

oA qnet Rests 1n:

a) North-

. South direction.
b) East- west directjop
¢) Upside down. |
d) Any direction by

chance.

5. ~ Attraction is seen betweén '

poles of two bar magnets in the cage

of: | R
a) North pole of one .

- pole of other.

b) North Pole of one -

magnet with South
Pole of other.

c) South Pole of one
magnet with South
- Pole of other.
d) All of these cases

will show attraction’. "

6. - Suspended magnet rests in:

a) East- west direction. '_

b) North south
. direction:
¢) North east direction.
d) North West
- direetion.

7. Which of the following -
materials is the most suitable for
making a permanent magnet.

a. Soft iron.

b. Nickel.
¢.. Copper
d. Steel.’

8. Magnetic lines of force of a bar
magnet do not intersect because:

a. The lines have

similar charges from
Lo a single point.

9. Which of ¢

M = 4 Science Class 6th, .
A freely suspended bar R

b. The lineg always
debate from a
point.

¢ Apoint always hag
- asingle net

d. .The line needs
Mmagnetic lenses to
Intersect,
he following
process?s cannot destroy magnetic
properties of magnet. |
+ 8) Hammering

b) Heating -

c) Dropping of a ha d

surface (&

d) Boiling~ |

The purpose of a compass?

a) To tell vou directions,.

b) You tell how far you have

© walked. - - | |

¢) To tell what time you left.
d) Tell you where the sun is.

single

10.

B. SHORT QUESTIONS, |
L. . What is a magnet?
Answer: _
A magnet is a material or
object that produces a
magnetic field.

- 2 What is magnetic field‘}

Answer:

It 1s the space around the
magnet where the magnetic
force is felt by another
magnet. |

3. How can we detect
magnetic field?
Answers: i s
‘We can detect magnetic

field by placing a compass at .
that place. |
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4, Curren :
vire. How cal
::;:fgcagzl:i be detected
around wire?

Answer:

By placing 4 compass on &
cu}rent carrying wire We can
detect the magnetic field.

5. From which pole ce:f 4
Magnet field lines will originate
and terminate outside the
magnet? |

Answer: |

Magnetic field ines
originate from North Polel |
and terminate on Souf;h. |
Pole. . :

6. Differentiate between

permanent magnet and

~ temporary magnet?

Answer:
~ A permanent magnet

retains its magnetic +
propertiés in the absence of
magnet or current. J
Temporary magnet lose their
properties in abgence of
magnet or current

C) LONG QUESTIONS:
1. What do you understand by
magnetic power and discuss
briefly will magnet lose their.

- power with time?

~ Answer: .

Ability of a magnet to attracf |
magnetic materials is called

* magnetic power.

Magnet loge their power by the
following method:

 Heating: On heating magriet loge

their magnetic properties.
Hammering: Repeated

" b Il;mmmering‘ weakes the Magnetic
- Btrength of a magnet.

'.I‘- L ..a
g
e i L
. i I'|-l. - Fl :
[ L r "
iy 1 5 - '
ptRg Fr o " a
St :
S F s

T

o v
# T
&
|
I =
A i
®
-
'. W L
b |
" W

9. How many poles of Magney,
are there and how can yq,, tel]
which is not for south pg]q if it

is not marked?
Answer.

" There are two poles of a magnet

a) North Pole
b) South Pole
We can determine the north op

- South Pole of a magne_t by plaClIfg it

with a compass.

3. Describe an experiment tq
illustrate that like poles repe]

| while the unlike attract.

Answer: o
Take two bar magnets a and b
suspend one magnet a with a Silk

thread from Support so that it is freq

~ to swing in the north south

direction, The magnet will come tg
rest. The north pole of magnet isin
the north and the South Pole of the
magnet is in the south direction.
This experiment show that like poles
repel and unlike poles attract each
other. . ¥
4, Explain in your own words,
how to make an electromagnet.

" Draw a labelled diagram to

show the circuit of the
electromagnet.

Answer: | |

Take a nail and wound a wire
around it tightly. Link the ends of

 this wire to respective terminals of

the battery. Switch on the battery
the current will flow through the
wire and the compass needle will

- show the deflection this
‘arrangement is called

electromagnet.

Scanned with CamScanner



illat Middle Guide

See the diagram book p‘age
number 132 figure 10.9

D STRUCTURED QUESTIONS,

1. How temporary magnet
can be designed?

Answer: .
It is made of soft iron. It the

design by placing them in strong
magnetic field.

9. What is electromagnet?
 Answer: o
. The magnet formed by
- passing electricity through a
wire 1s called electromagnet.

3. ~ ~ What are applications of"

magnet? |
. Answer: Itisusedin
ele_ctric motors, generators,
door bells, Speaker etc.

4, . How canyou magnetize
a magnetic material?
Answer:

When a magnet is rubbed
with the magnetic material

~ like needle or iron piece then

it is magnetized.

326

Science Class 6th

0. What is
| d‘.’mﬂgnetization?
Answer:

Removing the magnetic
Properties from a magnet is
called the demagnetization.

6. - How many methods are
there for the demagnetization of

. magnet? | ‘

- Answer:

There are three methods for -
- the demagnetization of
magnets:
l.. Heating.
" '2. Hammering.
. ‘3.« Electrical method.

7. © A Tailor is stitching
buttons on his shirt, Middle has

. slipped from his hand on the

floor how can you help the
tailored to find the needle.
Answer:

We can help them by giving a
mag.:et to them. | ik

. E.rProject work.
By using magnetic materials try

- different methods of magnetization

and demagnetization.
Answer;

Practical wdrk.

i

__ll-‘ —_— - — _—

UNIT 11
TECHNOLOGY IN EVERYDAY LIFE.

e, | Words | | ‘ | Meqniﬁs

Yard

" f .
---..____.______ -

Gardening "

Wo rd Meanings
Curdle 2K 23
o | Vital bl

; .
L
X 2 «
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i pﬁﬂ T R i e Balecony -~
Pp— —— — - Sl i
i (1 | Barrel —
LDrmnagy , Sl K
' Eesential | d.u 7 I‘emhze_r o .
Compost Synthetic ‘“\?
-/
R I [ E—
Secure ;3¢ | Saucepan m
EXERCISE 6. A path along which electnc current
MCQ (choose the correct option) flows 1s a:
1. The effective condition for solar oven a) Bulb
1§: b) Conductor
a) Cloudy c) Insulator .
2) Sunny d) Circuit
b) Windy
c) Wet B. SHORT QUESTIONS:

2. The material used in making of solar
oven is:

2) Low cost

b) Expensive

c) Low cost in efficient

d) Expensive efficient

3. The main ingredient of yogurt 1s:
a) Milk
b) Sugar
c) Cream
d) Egg..
4. Fruits, vegetables, peelings, egg shells
are ali‘examples of what type of
fertilizer?
¢) Chemical
b) Organic
¢) Inorganic
d) Pesticides

5. How does a femhzer help in plant
growth?
a) Make them grow

b) Replenish nutrition in the
plan

¢) Stunted growth
d) Discoloration

1. Why do plants need fertilizer?

Answer: |

Eertilizers provide essential nutrients that
make plant healthy. It also help in growth
of the plant.

2. Define compost.

Answer:

It is the recycling of organic wastes, such
as vegetable peels, Waste food and leaves
by buring them in compost pits.

3. English the components of a simple
circuit.

Answer:

Components of circuit are
resistor, capacitor, switch,
wire, inductor etc.:

4. Solar oven takes longer time to cook
as compared to the conventional
method. Why? | |

Answer:

Solar oven takes longer time due to
factors of strong wind and air temperature.
5. What is Coagulation? |
Answer:

It is the process by which flood changes
from a liquid to a gel, forming & bIOMl
clot.
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Why do we use fermentation
6.

AT entation is used for reservation in a
Feﬂzss that produce lactic acid found in

pfg; source foods are pickled, cucumber.
U |

imchi, and yogurt. - |

C LONG QUESTIONS.

(. Write down the steps of making

v'og“"t and cheese.

‘Answer:

\roghun: . _

- 1. Take two cups of milk in a pot

and boil it for half an hour to

" sterilize it. :
Let it cool to room temperature.

.. Add a spoon of yogurt in the
mailk. ' |

4, Mix it well.

5. Cover the pot with the towel and
- incubate it until it sets.

6. Open it after incubation and see
the result.

Cheese: -
1. Prepare the milk.
2. Acidify the milk.
3. Curdling the milk.
4, Cutting the curd.
5. 'Draining the whey.
6. Salting the cheese.

-u:!q

2. Define solar oven?  Write down steps

to make solar oven from a low-cost
‘material,

Answer:

Solar oveniis a device which uses the

energy of direct sunlight to heat, cook or

~ drink and other food materials. N
Steps to make solar oven:

l.  Create an insulation chamber.

2. Construct a lid to fit oven the top
of the bigger box.

3. Line the box witlr foil to reflect
sunlight into your box, and

insulate with paper in order to to
trap heat.

4. Set up your own.

| fertilizer, so Sara

will grow b
Answer:

Chemical fertilizer is best OVEr organic

' plant will grow better.
Chemical fertilizers are rich equally in all

three essential nutrients,nitrogen,
phosphorus and potassium,

A) Write down a report.on
environmenta problem cause

. d by the
eXcessive use of fertilizers.

~ Answer: ' |

Excessive use of fertilizers lead

- 10 eutrophication. Fertilizer contains

substances including nitrates and
phosphorus that are flooded into lakes and
oceans through rains and sewages these

., substance boost the Excessjve growth of

materials.

- oxygen level for aquatic life.

algae in water bodies and thus decrease

2. You are provided with the following
I. A packet of yeast. -
2. Empty water bottle.
3. A balloon.
4. 1 Cup of warm water.
>. 2 table spoon of sugar,
Directions: - |

A) MIx water, east and sugar in the
bottle.

B) First in the balloon on the top of the
bottle. |
A) Try this experiment using different
combination. e
Answer:

A) Mix water in yeast.
Ans: Mix water and sugar.

B) Try cold water.

Ans: cold water will not dissolve yeast
and sugar easily.

C) Try no sugar. ~
Ans: water in the yeast will be mixed.

= . —
e

—————
——— e o g
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£) What will hap
the sugar?

Ans: in absencc O
mixture will be bitter.
F) What would happen if

cold water? .
Ans: then the water and yeast will no

dissolve casily. - o
G) What is the gas inside the bglluon :
Ans: carbon dioxide. |

H) Why do we use yeast and baking
bread? !

Ans: yeast not only leaves dough_ and
gives it a light sponge like texture. It
provides flavor Aroma and contributes to

the nutritional value of bread. .
3. You are provided with the following

material.

Answer:
1.. " Abulb

- 2. Aswitch
3. Copper wire _
Connect the given material so that the

bulb light up.

you will use

Science (laqq 6th
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" 4. What would happen if we join tw,

batteries?

Answer:
If we join two batteries in the same order

“then the bulb will light.

5, Does the same rule apply in miachip,,
whin lived the cars if yes elaborate yqy,

answer.

Answer: |
Yes, same rule apply in machines who [;a

' the car because battery do works.
- See diagramon textbook page: 154

5. Enlist how many energy resources
are misused in our daily life and
brainstorm actionable steps you would
take as responsible citizens.

Answer: |
. For even most in significant

errands, they use either bike or
car, thus Leading to wastage.

~ E) Draw the picture of the circuit. § g{saek;f)lreecg;;gaﬁlz ri:efflgt:;ently.
| | 4. Avoid single use plastics.
5. - Drive less.
UNIT 12
SOLAR SYSTEM. :
| __ Words |  Meanings 'Words ) Meaninés I
Planet ot | Orbit b
Diameter | y. Characteristic =2r
Volume / Criteri R I
_ - : la JL"‘/J"J I
Dwarf |
1 Binocular
Rock i
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EXERCISE
* Megs(choose the correct option)
| What holds the planets in thelr orbits
qround the sun?
a) Vlt!
b) Speed
C) String -
d) AIr currents
9. The largest planet in the solar system 1S
known as
a) Uranus
b) Saturn -
- ¢) Jupiter
d) Earth N
3. Balls of ice, does, rocks and gases
form these: | |
a) Asteroids
b) .Meteorites
¢) Comets
-~ d) Meteors

P’C!}

4. Pluto was once called a planet in 2006,

it was classified with other nearly round
bodies whose objects cross the path of
other bodies what term descnbes Pluto?
- a) Meteor
b) Dwarf planet
c) Asteroid -
d) Comets
5. What makes the sun more important
than other stars? | -
a) Unlike other stars, the sun is very
large. .
b) When compared to.other stars the
sun is the hottest. ‘
¢) Unlike other stars, the sun is the
right color of living things.

d) When compared to other stars, _-

the sun is very close to earth.
6. Which of the following is the correct
. order?

i ) Mercury Mars Venus Jupiter
b) Mercug Venus Earth Mars

Science Class 6th

s

Purpose

A

. —
Cnmmumcate_ | q.',(,uu/t;_,j/r/.ﬁ l

¢) Mars Venus Jupiter Saturn
d) Venus Earth Jupiter Saturn

7 .What is the position of Mars from Sun?

a) Second

b) Third °

C) Fnurth

d) Flﬂh
8. A small sohd Rock travelhng through
the atmosphere is known as:

a) Meteor

b) Comet.

c) - Stak.- J

d) Asteroid | |
B. True and false (correct statement if
it is false)

1. The sun is a star. True. |
2. Earth has many moons. False.
Correct: earth has only one moon.

3. The four planets closest to the sun are

-called the outer planets, False.

Correct: the four planets closest to

~ the Sun are called the inner planets.

4. Asteroids are Icy objects that revolve :
around the earth. False. -

Correct: asteroids are ipj: objects that
revolve around the sun.

'5. There are nine planets in the solar

system. False.

Correct: there are 8 planets in the solar
system.

C SHORT QUESTIONS:
1. Into which two main groups
* can the planets in our solar
system be classified? Describe
two features of each group.
Answer:
Two main groups of solar
system are:
1. Planets:
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e Sun.

volves around the sun.
o heir orbits.

Gravity hold them int
7. Dwarf planets:
They are smaller bodies than

planets it is not a Moo
2) What is an asteroid?

revolves around the sun and is made of

rock or metal. |
3) Describe a meteoroid.

Answer: | |
Meteoroid is a solid piece of debris from

an object which originates in outer space.

4) What is difference between planet
and dwarf planets?

Answer:
A planet is a celestial body that revolves

in an Orbit around the sun. Dwarf planets -
are natural objects outside of earth

atmosphere.
5) Why is son considered as a star?

- Answer: - -

Sun is-a star because it produces energy

by fusion reaction of helium turning into 2,
| artificial satellite in daily life.

hydrogen.

6) Which planet of solar system has
people, plants and animals? Why?
Answer: . r N\

Earth as people, plants and animals.
Because it is just the right distance away
from the Sun to allow the right amount of
air, water and heat to support life.

. 7)-What are dwarf planets and what do
- they have in common? -

-
%
5.
\n—_
- B

Answer:

Dwarf panels are natural objects outside
of Earth's atmosphere. There are five
dwarf planets in solar system. These are -
the same as normal planets just smaller.

8) pick a planet (other than earth) and

describe five characteristics that you

Know about it, be as specific as possible. 3.

Answer:
Planet Jupiter:

DA W

. Itis massive than all othe,

planets.

Fastest spinning planet, -

Has Great Red spot,
Has rings.
Have 67 moons.

What is the solar system?
Write the names of Planets o
the solar system in sequence.

Answer: A .

The sun and the Cluster of bodieg
around it make up our sojar _

system. | |
There are 8 planets in our sgla;

system. Theseare:

1. Mercury
2. Venus -
3. -Earth
4. Mars
5. Jupiter
6. Saturn
7. Uranus
8. Neptune -
Discuss the utilization of

Answer: - P
Uses of artificial satellite are:

I. Research satellites
rmeasures major
properties of outer
space. |

2. Weather satellite predict
the weather. |

3. Communication satellite
provide worldwide link
- for mobile, radio and
television.

4. Earth observation
satellites Map and
display our planet's
resources.

What is importance of sun in
our solar system? Assume the distance
between the Earth and the Sun becomes

;- T il
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yalf of its present distanve, Wha g 4 I have many rings. I am located

olv to happen to live? : :
tikely to = between Jupiter and Neptune but [
Answer: Uranus, ¥ o

: : Whi
The sun is an ordinary star, one =~ laﬂéﬂtﬂnet an\], . Saturn,
of about hundred billion in oy ooon venus and Jupiter,

. Whi
weather, ocean currents, seasons 21 . .
and climates, and make Siant ik . Label the nam.es of planets.

possible through photosynthesis. . . &
If the distance between the syn R LT
and earth becomes half then the e — I

- —| uraNUS I
b b

temperature of earth wil] | p——— . |
increase, and the life become :
Impossible on earth.

1\ .\.\.
I"""--—-I-.__.
- SATURM
| :
—~ JUPITER s

o ————

i Differentiate between stars
and planets.

Answer:
Stars: | | e _ 3 P
1.~ Stars are dot shaped, F. Pr oj!t-;ﬁt.;or'k:ﬁ S
It has its ' : ' & |
s tlwil?]zg light. Make mode] of any satellite by using

o recycled materials.

Stars have very high _ (Gioup work) -
| temperature. | Answer:
Planets: :

- Practical work.
I. Planets are spherical. s

Planets get flight from
stars. '
2. Planets do not twinkle.
Planets have low
temperature.

AW

(F8

. ESTRUCTURED :

QUESTIONS.
1. Solve the riddles.
1). I am between earth and but

I'am not Mars. Which planet am
[. Jupiter.

2, Human are constantly working
on me which Planet am I. Earth

3. T'have a huge “red spot” on me
which planet am 1. Jupiter.

e
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